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COMMON HALF YEARLY EXAMINATION - 2024
* Standard X Reg No
. MATHEMATICS - ‘
Time : 3.00 hrs ' " Partsl Marks : 100
l. Choose the correct answer: 14x1=14
1. Ifn(AxB) =6 andA={1,3} then n(B) s '
a) 1 , b) 2 . N b d)6
2. 7%= __ " (mod 100) . ‘ _
B)E T S Yy c)3 B 9
3. GNenFy=1,F,=3and F =F,, +F, , then Fyis
a3 2ib) B c)8 - ' d) 11
4. f{x)= (x+1)3— (x= ) representsafunctlon Wthh ., -
a) linear .. . D) cubicg @
C). reCibrdCaI o l,d) quadratic
BYF TSR A e L
gy T g S T 5 o e
iR ks T, Y e T e
6. Gréphoffhélineafequatipn isa sl U - ‘
a) straightlipe - . b)circle
0 parabola e d) hyperbola
e IfAlsa2x3 matrlx Blsa3x4matr|x howmanycolumns doesAB have o
a3 o N\b) 'c) 2 il e ) 5,
4 8._lﬁ|nAABC DE||BC AB 360m AC 24cm andAD 21cm then thelength of
- AEis , : il b i
a) 1.4cm b) 18cm )12cm 0 e ‘d)_1.0.Scm -
9. The slope of the line Jommg(12 3) (4,a)is 1,the_value of‘a’ ié :
b SRR L e
10. Atangentlsperpendlculartotheradlusatthe b '
' ‘ a) centre B R )pomtofcontact
¢) infinity b SR o ~d)chord -
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14.

15.

215,16
AT
18,
19,

1. Ifacotd +b'cosecd=pandb cot +a cosecd = = q, then p* =

12.

.a)
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- g% is equal to
db-a

2

a) a2=b2? b) b2—a2 - ¢) a2 + b?

. e S
The total surface area of cylinder whose radius is 3 0Fits Helghts

9rh? : . i
a) —8— sq.um‘ts _ ,b) 24zh? sq.’u’nlts,

R g
c) %sq units % d) S6mh” 54 units

The range of the first 10 pfimenumbér is _ _
Q9. e e by g s Geya7 Ll O
The average of firstn naturalnumbersis =~ -

2

n
b) 5 :
Part-ll | el g
Answer any 10 questions. (Q No.28 is compulsory) ; - 10x2=20
Arelation R is given by the set {(x y)/ y X+ 3 X é {0,1 ,2 3 4 5}} Determme its -
domain andrange. ; ,

Iff(x) = :x2—1 ,9(X) =X~ 2 fmdanfgof(a) - 1.
Solve:x*—13x2+42=0 |
IfAis of order pxqandBis orderq XTI, what is the orderofAB and BA? -

Show that APST ~ APQR

- N

-
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31.
32.

.FindAxBand Ax A ifA = {m,n}; B=
. Find the slope ofthe line ‘
. The hillin the form of a yi

5. An aluminium sphere of radius
- Findthe height of the cylinder,
26.

www.Padasalai.Net : N www.Trb Tnpsc.Com

3 X Maths
Ky 0

joining the points (sing, —~cos0) and (=sind, €os6)
ghttriangle has its foot at (19, 3). The inclination of the hill

tothe ground is 450, Find the equation of the hill joining the foot and top. .

. Find the angle of elevation of the top of a tower from a point on the ground, which

is 30m away from the foot of a tower of height 104/3 M
12 cm is melted to make a cylinder of radius 8 cm.

Find the diameter of a sphere whose surface area is 154 m?
Find the range and co-efficient of range of 63, 89, 98, 125, 79, 108, 117 and 68
Find the number of spherical lead shots, each of diameter 6 cmthat can be made
from a solid.cuboid of lead having dimensions 24 cm x 22 cm x12cm

Part - Il

. Answer any 10 questions.(Q.No.42 is compUlsorﬂ 10X =50
A={xeN/1<x<4},B={xe W/0<x<2}and C={x e N/x<3}then verify that

| ,'AX(BUC)=('A)(.B)U.(A-XC) i @ e Y,

- 30.

LetA={0,1,2,3}and B={1,35,7,9} be two sets. Letf: A—> Bbe a function given - -

' _

f(x) =2x + 1. Represent this function
i) byArrow diagram g,
ii) Tableform -

iii) Set of ordered pair -

33

" iv) Inagraphicalform -~ e L
Find the sumof 93 +10%+......... DB r e N Y, 4 S
Find the values of mand n if its a perfect square:. - : |

33.

e
'35

+ 36.

Y83 +mxé+nx+16 .

A=[31-2].ShowthatA?—5A+712=0 :

o

State and prove Pythagoras theorem. Hvdl ey :
Find the equation of the perpendicular bisector of the line;joining the points
A(—4, 2) and B(6, —4) ; : g bt ey S

Find the area of quadrilateral whose vertices are at (-9,0), (-8,8), (-1,-2) and.
(—6,‘—3) : &
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37.

38,

39.

40,
41.

42

N\

43.

44
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A man is standing on the deck of a ship, which is 40m about water level. He
observes the angle of elevation of the top of a hill as 60° and the angle of
depression of the base of the hill as 30°. Calculate the distance of the hill from the
ship and the heightof the hll. (3 = 1.73)

The radii of the circular ends of a frustrum which is 45 cm-high are 28 cmand 7
cm. Find the volume of frustrum ' ’

Acapsuleis in the shape of a cylinder with 2 hemisphere stuck to each of its ends.

If the length of the entire capsule is 12 mm and the diameter of the capsule is 3
mm, how much medicine itcan hold?

Find the co-efficient of variation of 24, 26, 33, 37, 29 and 31

Two dice are rolled once. Find the probability of getting an even number on the
firstdie or the total of face sum 8. - '

THTT+T77+........ Find the sum of this series. .

Part-Iv. -

_Answer all the questions. . f \  2x8=16

a) Constructatriangle similar__to a 'giv‘en triangle LMN with its side edual td % of

‘the correéponding sides ofthe triéngle LMN. '(Scale factoxr% <1)

(OR)

b) Draw a circle of diameter 6 cm from a point P which is 8 cm a\)véy from its "

- centre. Draw the 2 tangents PAand PB to the circle and measure it
a) Drawthe graph XY =24,X,Y >0, Find, = . Uy
) YwhenX=3 o
ii) XwhenY.=6
_ (OR) .
b) Draw.the graph for the quadratic equation and state their nature of solutions. 7
X2-9x+20=0 e |

ded ek sk
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